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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.
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(2) All questions are compulsory.

(3) Marks are indicated on right side.

Explain : Demand rule, Supply rule. 10
The demand function of a commodity is 10
x = 50 + P — P2, Find the elasticity of demand when
P =5.

OR
Explain : Elasticity of demand. 10
Find the maximum revenue, if the demand 10
function of a commodity is P = 180 — 2x.
Explain : Monopoly, market equilibrium. 10
If the demand function of the monopolist is given 10

x

by P = 25 3 and its cost function is given by
C = 100 + 3x, find the maximum profit.

OR
Explain : Marginal cost, marginal revenue, total 10
utility.
The utility function of a consumer is U = 4xy — y¢ 10
and budget equation is 2x + y = 6. Find the value of
x and y such that utility U become maximum. Also find
the maximum utility.
Explain : Input-Output analysis. 10
For the following data fit y = @ + bx + cx?. 10
Year : | 1998 | 1999 (2000 | 2001 | 2002 | 2003
Price : 100 107 | 128 140 | 181 192

OR
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(b) Explain : Exponential Smoothing Method.

(b) Test the significance difference between two sample

means from the following data :

n, = 150, ny, = 200, x = 1400, x, = 1200, S? = 14400,

4 (a)

S2 = 6400

Explain :

t-test.

OR

Explain : Importance of Business forecasting.

Explain : Null Hypothesis, Level of significance.

10
10

10
10

10

(b) Two samples are drawn from two normal populations. 10
Test the significance of equality of two variances :

Sample I : |21 |17 2629|2423 | 18]|26| 25| 21
Sample IT :| 28 | 24 [ 42 | 37 33| 35 | 39|29 | 42| 44 |30|37
5 (@) Explain : The method of ANOVA, for one way 10
classification.
(b) Fit the Poisson distribution to the following data 10
and test the goodness of fit :
0 1 2 3 4
112 63 |20 | 3 1
OR
5  Analyze the following Latin Square design data 20
completely :
A(12) | C(19) | BA0) | D)
Ca8) | Baz2) | D) | A7)
B(22) | Doy [ 465) | c@
D2) [ 4(7) [Cc@n) | Ba7)
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